Precal - 3.6 - Inequalities & Test Review September 12, 2014

Turn in HW #6

e 3.4: #7-16all Given the zeros of a polynomial, find the polynomial
#25-32all; 43-470dd Given some zeros of a polynomial, find the other zeros
#51-54all Listall possible rational zeros
#55-690dd Find all the zeros and write f(x) in factored form

#79,89,93 Descartes' rule of signs
#95-98all Graph the polynomial

e 3.5: #7-250dd Determining asymptotes of rational functions
#27-670dd Graphing rational functions

Due Monday (if not submitted today):
e 3.6: #15-390dd Solving polynomial inequalities
#47,53-610dd Solving rational inequalities

Test #2 - Mon, 09/15

1. Which of the following are pot possible rational zeros of the polgnomlal [x) = 3x5 —4x*+2x3—x—47?
(circle your answer(s)) 'Fd C‘(’b( sef %

faches £ 2

o~ //‘ ‘

2. Which of the following does Descartes’ Rule of Signs tell us about the zeros of the polynomial
FG) = 3x% — 4x* + 2x3 — x — 47 (circle your answer(s))
N

3553\'\ ch es 2 Jor | Pos("ﬁw resA u'oJ
T 3(3*3 XY 26 - -x) - T
2sirm e Degen - Ixx 23 RX - %

a.ithas 4 or 2 or 0 positive real Zeros d. it has 1 negative real zero

or 1 positive real zeros 0 negative real zeros

c. it has no negative real zeros f. it has 3 or 1 negative real zero




Precal - 3.6 - Inequalities & Test Review September 12, 2014

3. Construct the polynomial of least degree that has the following as some of its zeros: 2 ; —5 ; \f§ ; 72,
(Please leave your polynomial in factored form!)

- (5= D (x+ B AD (% +T3) (X-3; ><“7>

x(x—4)(x+2)
x—3

4, Given the factored rational function f (x) =

a. Determine its zero(s) if any:
O0,4,-2

b. Determine its vertical asymptote(s) if any:

X=3

5. Divide the polynomials using long division. State the quotient and the remainder. What is implied about the

polynomlalxa,z d th@um 2 by, emainder? 2
%( (¥ —2x2+3) = (x +2) Q: X§,27\4_2x_4(—
X+ r)kq-Zx 4> aAx%4 > 1
(X T+2x?D -(2x%+4x) (E l
'Qx"—-ZxE +3

- - 4x S X n
(-2x3 —j—hx = (— 1 1-3) Lok sk 7(*"2)( 45
6. Forthe polynomlal functlon glven below in factored'mL_ bt 2 i? t\o;‘ [ 2“00
Fx) = (x——) (x—3)3(x +2)2 (wi) )] | (o) X ’2)( +73

A. The zeros of the function and their multiplicities: —P (oﬂ) = ‘ |
w V3 [ S [~Z —é/— (] N;‘,})‘é
Multiplicity: | &2, Y 2. @&

A

B. The lead term of the polynomial and a sketch of what that implies for the end behavior of the graph:

B e

-a(->(s> @D (0,9

=S 2 e O,
T
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7. Given the information about the polynomial function, draw its graph.
Lead term: —3x°®

Zeros: 0 2 5 -3
Multiplicity: 3 1 2 2

8. Giventhat —2 is a zero of the polynomial f(x) = x* + 5x3 + 5x2 — 5x — 6, find all other zeros and write the

sl B B S
21 5 5 -5 -( 125
-2 2 L ‘2_31’6-

| 3 =] -3 O
FOO = (x*2) (K24 352 x - 3> :(x+z>(x+b()&7x.5
0 [y ] G
(k2D (» +3) (X2 D

= (x+2)(x+3) (x—i}(x—rb
208 - 2,-3

polynomial as a product of linear factors.

"
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9. Describe how the following transformations affect the graph of the original untransformed function

(e.g. “shift up 2" or “stretch vertically by a factor of 3 and flip upside down" etc.):

A. The+3in f(x) = |x + 3|
SK\F‘{' I(’;"’ 5

B. The5in f(x) = 5%¥x
Vohcad strebch by S

C. Thj(" ;}ﬂx) _L;,Fr)ardbt.or\ ( vr/-AcwC(OB

D. The 41nf(x)—774

S}‘Il‘F{‘ dOw AN A]‘

3.6
64. Solve the inequality.

2x N X S 3x
x2 -9 x24+x-—12  x2+7x+12

yax
@ X M2 ay EE
(x=(x+3) m 2 7 ¥Z

ROEA)4X (K43 —3x (x—3§

(XDt D(x+4 Y

A+ 8x R + 3 ;éf‘/-;-?x
D+t

s x
DI

v
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‘)oss}%goesraﬁanaz - 1,225 « O

o+ 2
“lQ =l -0
2 -] -10|0

CX+I>C2)(L—X-/O> < Q)
CX*’)(ZX—S)(X+Z> <O
Q& (x- s;)(x+/>(><~|—2> =0

-3 =/ .5 )

e

Graph the rational function.

2( x4+ - 4(X46
*xg o7 4;‘5 2V ) ( x—l-(,Y)\—Z)( x¥2)

~
‘D
mo

f0 =553 :(x-w)(x-l)
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